{.
|
d — i‘ 1 XS=65 ?’“
!
: =-6 212(6-’-"-6 1
i X ] =1 | ¥7=17 ]
41 x .8 = f;lxz_:% ) \
d X9 24 iﬂ’q'-'-q’ i
1 A 10 =10 “j.x;Lo_:io
3 \/s

G Scanned with OKEN Scanner



"‘- [
[
_— =

;;/ T /////

G Scanned with OKEN Scanner



YOUVA

C} Scanned with OKEN Scanner



| L]‘~ \\ Page No. ‘;;:H_{
| Talslo 60\ TN
@ s

, x =l Yy x[=h T
| e
y x 2z f Yy x2=8
i; ) R

(4 x 3%= J2 , 4 %x3=)2

C} Scanned with OKEN Scanner



| S Ix[:= S
S ‘X2 =|0
. X5 =il S ¥.3 = 1S 3
SX49 = 20 S x4 = 20
S XS =2¢ LS X <:=28
Ly 6 =30 S x6 =30
2Y ) =35 = - Sx7 235
2 X2 = U0 S X3 =40 «
2% 9 =44 Sx 9 =4S
| lle?y’ $x10250
|

G Scanned with OKEN Scanner



G Scanned with OKEN Scanner



o
M T W T F 8 2

Page No.:

Dote:

YOUVA

C} Scanned with OKEN Scanner



Page No.:

7
[
il

L
—
e

=
E--

| |
I ' .l ‘“ ' ), '\

I'
|

CEEEmeET | ////////////

C} Scanned with OKEN Scanner



" 4 ") i ¥ W T F a5 8
U \\_J Page No !
) YOUVA
\&) | Dale:
: II'.t - ) s L] .
2 | 10 y
,Q"‘ &M ‘I'.‘;"J "..'k._.n .u\.."
4 d ,
. | AL bl v -

COl\,u = qqu) T

(d) | 2,5 = 5hh) )

o7z = 7772 _
&3 | :r / ML, AL '.!.’ -~ A l.-_‘.‘.f ‘J..'.l‘r

7.2, 8,3 2578
(hils,2,3 = 3357 _
(18 .2,6 - Qly

C} Scanned with OKEN Scanner




= —

o leyy =
:" 6) = 3—3_\3_5/7

;//////////

L\\\\\\\\\ .

(} Scanned with OKEN Scanner



